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On the Pricing of Catastrophe Bond Based on Bayesian Inference
ZHAN Kai, DING Dong
(School of Finance, Guangdong University of Foreign Studies, Guangzhou, Guangdong 510006, China)

Abstract : Monte Carlo simulation method is used to fit the total loss distribution model after expanding the samples in
the case of knowing the loss frequency distribution and loss intensity distribution, whose accurate data can also be de-
duced by Bayesian inference method with deficient typhoon data. Zero coupon bond pricing formula is used to price the
typhoon catastrophe bonds of different principal repayment ratios. By taking Guangdong Province as an example, it is
concluded that Bayesian inference is preferable in solving the problem of lacking typhoon data and that the risk of Ty~
phoon catastrophe bond is proportional to the revenue.
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